Gminny Interdyscyplinarny Konkurs z Jezyka Angielskiego i Matematyki
dla ucznidéw klas pigtych

Noe

9.

Imie i nazwisko ucznia

Nazwa szkoty Suma punktéw

ETAP SZKOLNY - 23 luty 2017

Czas pracy: 60 minut

Liczba punktéw mozliwych do uzyskania: 50 punktéw

Instrukcja dla ucznia:

W wyznaczonym miejscu wpisz swoje imie i nazwisko oraz nazwe szkoty.

Arkusz liczy 6 stron. Przed rozpoczeciem pracy sprawdz czy Twoj test jest kompletny. Jesli
zauwazysz braki, zgtos je Komisji Konkursowej.

Zadania czytaj uwaznie i ze zrozumieniem.

Odpowiedzi wpisuj czarnym lub niebieskim dtugopisem.

W zadaniach, do ktérych podane sg odpowiedzi, wybierz tylko jedng z nich i odpowiadajacg jej
litere otocz kétkiem.

Nie uzywaj korektora. Jesli sie pomylisz, btedne zaznaczenie przekresl i zaznacz kétkiem inng
wybrang odpowiedz.

Rozwigzania pozostatych zadan zapisz czytelnie i starannie w wyznaczonych miejscach.
Pomyftki przekreslaj.

Redagujgc odpowiedzi do zadan otwartych, mozesz wykorzystac¢ brudnopis. Zapisy

w brudnopisie nie bedg sprawdzane i oceniane.

Nie uzywaj kalkulatora.

10. Przy rozwigzywaniu zadan mozesz korzystaé z przyborow kreslarskich.

Powodzenia!
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PART 1 - ENGLISH

| Read the text and circle correct answer:

Going shopping

Mrs Smith is going shopping with her son. They are looking for a present for Mr Smith's birthday. Mrs
Smith wants to buy him a new camera and Tom wants to buy him a jumper
They drive to the department store on the high street. Mrs Smith uses the escalator to go to the Electrical
Department on the third floor and Tom takes the stairs up to the Men's Clothing Department on the first floor.

When she gets to the Electrical Department she finds that cameras are sold in the Photography
Department on the ground floor. She takes the elevator down and asks the sales assistant there for some help.
She doesn't know much about cameras and needs some advice. He recommends an automatic camera by
Olympus, but it is too expensive. She asks him if he has anything a little cheaper and he tells her about a special
offer on the Pentax range. It still seems expensive so she thanks the assistant and decides to shop around first.

Meanwhile, Tom is looking at the jumpers. He only has £10 to spend so he can't afford most of them. He
sees his mother and they decide to go to the smaller shops round the corner.

Zrédto: http://www.learnenglish.de

1. How much does Tom have to spend? (0-1p.)

a. £15
b. £20
c. f10

2. Were they were looking for a Christmas present? (0-1p.)
a. Yes
b. No

3. What department does Mrs Smith go first? (0-1p.)
a. The Photography Department.
b. The Men's Clothing Department
c. The Electrical Department

4. Did they walk to the shops? (0-1p.)
a. Yes
b. No

5. How does Mrs Smiths get around the store? (0-1p.)
a. She takes the elevator up and the escalator down.
b. She walks up the stairs and takes the elevator down.
c. She takes the escalator up and the elevator down.
d. She walks up and down the stairs.

6. Where are the cameras sold? (0-1p.)
a. The Men's Clothing Department
b. The Electrical Department
c. The Photography Department

7. What department does Tom go to? (0-1p.)
a. The Men's Clothing Deparment
b. The Photography Department
c. The Women's Clothing Department
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http://www.learnenglish.de/

8. Mrs Smith went into town alone. (0-1p.)
a. Yes
b. No

9. Can Mrs Smith afford the Olympus camera? (0-1p.)
a. Yes
b. No

10. Where do Mrs Smith and Tom go after the department store? (0-1p.)
a. To the shops round the corner
b. To the bakery round the corner
c. To the supermarket round the corner

Il Choose the correct answer:

1. What's the matter? (0-1p.)
a. |needsome syrup.
b. [I've got the flu.
c. | have some pills.

2. Were you on holiday last summer? (0-1p.)
a. VYes, | were.
b. Yes, | was.
c. No, I stay at home.

3. Heis .. than me. (0-1p.)
a. theyoungest
b. young
c. younger
4. Your father’s new wife is your ................. (0-1p.)
a. nephew
b. aunt

c. stepmother

5. Whenlgrow up | .....ccceuevveeeernenen. to be a photographer. (0-1p.)
a. would
b. want
c. will

PART 2 - MATHS

Zad.1(0-1p.)
Pewien rok szkolny skoriczyt sie 19 czerwca, a nastepny rok szkolny rozpoczat sie 1 wrzesnia. lle dni trwaty wtedy
wakacje?
a. 74 b.73 c.72 d. 71
Zad.2 (0-1p.)
Jaka jest cyfra dziesigtek wyniku z dzielenia liczby 45824 przez 32 ?
a.3 b.9 c.4 d.2
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Zad.3 (0 —-5p.)

Ocen prawdzowosc¢ zdan. Zamaluj odpowiedni kwadracik.

Kat o mierze 168 ° jest rozwarty. TAK [ NIE O]
Przekatne prostokata majg jednakowe dtugosci i sy prostopadte. TAK OJ NIE [
lloczyn dowolnej liczby i liczby 1 jest réwny 1. TAK I NIE [
Wartos¢ utamka po skroceniu sie zmniejsza. TAK I NIE [
Z odcinkéw: 2 cm, 2 cm i 4 cm mozna zbudowac tréjkat. TAK OJ NIE [
Zad. 4 (0-3p.)

Natalia i Dawid postanowili po¢wiczy¢ przed sprawdzianem z matematyki.

Natalia obliczyta warto$¢ wyrazenia: [(9—5):2+4-4]:2 +1 iotrzymata liczbe 10.

Dawid obliczyt wartos¢ wyrazenia: % . 4% +( 1% - % ) iotrzymat liczbe 3é

Oblicz wartosci wyrazen. Kto otrzymat poprawny wynik ?

Odp.:

Zad. 5 (0-2p.)

Pewna kwoka dumnie chodzi, bowiem dziewie¢ kurczat wodzi. -Sfuchac prosze mnie w kurniku, bo ja dzieci
mam bez liku! Kazda z was ma kurczqgt szesc, wiec ja pierwsza bede jesc. W naszej grupie osmiu kwok bede

rzqgdzic caty rok! lle jest kurczat w tym kurniku ?

Odp.:

Zad.6 (0-3p.)

Dziadek Pawta ma 64 lata i jest od Pawta 8 razy starszy. lle razy Pawet byt mtodszy o dziadka 4 lata temu?

O ile lat byt mtodszy ?

Odp.:
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Zad.7 (0-2p.)
Winogrona sg dwa razy drozsze niz jabtka. Za jeden kilogram winogron i jeden kilogram jabtek Basia zaptacita 9

zt. lle kosztujg jabtka, a ile winogrona ?

Odp.:
Zad. 8 (0-3p.)

Dziatka ma ksztatt prostokata o wymiarach 60m x 120m. Cze$¢ dziatki zajmuje ogréd warzywny, ktory takze ma
ksztatt prostokata. Pole powierzchni ogrodu jest 90 razy mniejsze od pola powierzchni dziatki. Jakg powierzchnie

ma ogrdod warzywny?

Odp.:

PART 3 - MATHS IN ENGLISH

Exercise 1 (0-3p.) Is it true or false? Select the correct answer.

One half is bigger than one third. YES O NO O

Twelve is the sum of numbers seven and five. YES OI NO O

A half of one hundred is forty-fiive. YES O NO O
SOLVE EACH PROBLEM SHOW YOUR WORK

Exercise 2 (0-1p.)

Find the next number after ninety-eight?

Answer: The next number after ninety — eight is

Exercise 3 (0-2p.)

Manuel read 58 pages on Sunday, 37 pages on Monady, and 43 pages
on Tuesday. How many total pages did he read?

Answer: Manuel read pages.

Exercise 4 (0-2p.)

Sara earns $63 dollars a week at her part-time job. She plans to work
28 weeks this year. How much money will she earn ?

Answer: She will earn

| etap — szkolny strona 5




Exercise 5 (0-1p.)
Complete the missing digit to make the number 512 divisible by 3.

Answer: The missing digit is

Exercise 6 (0-1p.)

According to the recipe, an apple spice cake has to bake for 90
minutes. How many hours is that ?

Answer: The cake has to bake hours.

Exercise 7 (0-1p.)

A pen is 147 millimeters long. How many centimeters is that?

Answer: The pen is centimeters long.

Exercise 8 (0-2p.)

1
Mary spends lz hours on the bus every weekday (Monday

through Friday). How many hours is she on the bus each week?

Answer: She is on the bus hours each week.

Exercise 9 (0-2p.)

Anna bought a book for 17,80 zt. She paid with a 50 zt bill. How much
change did she receive?

Answer: Anna received in change.

BRUDNOPIS:
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